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Honors PreCalculus
Unit 8 Review #1
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Find the exact value using sum and difference.
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Write as a single expression.

10. cos7y cos3y—sm7ysin3y

Cos (7 +39) =@

Find all solutions between the interval [0,27]
12. sin 2x =sin x

Lsinx cosx-812% =0

SinX (2¢sx-1) =0
Sinx =0

14, cos%
/e N Ty
cas( 1) = os(2)
X=T/qy
T $X
eos(2): 2 [22
:_-{-\/mi/q\
Z
=+ [z —
= o ‘Fﬁ—:
of

g. 5m—-—sln(3"ﬂ" 47,'-

sin () ('oS('j) + co:({{)s;,, (__?
e, @z

- T
2 +{g )
tan3a —tan2f 4

I +tan3e tan2

fentza-2p))

13, cos2x+sinx=0
/=28 +Sink = O
Z'S!'nzx-d‘/'nl’-" =0
(ZSinX + | )(d‘fnx -/ ) =0

S;ﬂk’-l/z_ Sink=/
-7'"_ ar a7
U o 2 Tr/
15 sm 2T &
Sial= )"'J"" ( N )
g
Sin 24 2+ [ 1—cos (T
k.5 e
- %
= of e ey
A
[z
L{



Proof Review
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